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38,0002 x 190000/64x 1/3x50%x 1 . 1 = 20,683
HuAzsag
A RE X 5,70021x600Zx1.1 = 3,762
o ANZE 19,0002/ 1002 x1.1 = 2,090
012l Al A 19,0002/x5002x1.1 = 10,450
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JARSIOHEEH]  2+:(2400) FEH L XIS ASI NS &F: (2410) KIS oH e Mg (2414) XI = 2tel NIAIE: (120) B & = I [SRE] [ HH]

2 = ¥ 4 o 5
ol & o oo & = ) x
BHHIE. MIMIE 2 o & o =5 A Y
< PIEI\= 8,8002 x5,000% 2x50/100 = 22,000
CSEEYIALR 8,8002x800E 2 = 7,040
o3 2222 2 HAl
- WEZAXIF EXRE2 1902/x65,00004 = 12,350
- WY ZAKDN QARE 2 0|QAHED SNRE2
1,490 x6000H = 894
o6. 22|
- ZAXIL Y SSA DHOHHIEA AAte 24l
5,000 x5Hx 10 x 122 = 3,000
- NETH MASIAIY 24
5,000 x5Hx10Y x 122 = 3,000
o9, AlE YIS XY
- NMZ=YHYZE 25D SXES
200,000 x40Hx23] = 1,600
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2 (2000) AFRIOHEEH] 2 (2400) ZEHL XIS ALS| DR &F: (2410) K IR MIgh: (2414) X1 & 22| HIAIE : (120) 3 & & ZH| [ERH] [ HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
- NFDALBE 2AD| SNB2
250,000 x2CHx33 = 1,500
- =YRH S |NEAE 400,000 x3CHx23] = 2,400
301
Bt AR 11,136 14,608 A3, 472
11,136 14,608 A3,472/08 RoU22QABAZ
SXFEAREX RA22QS
- =3 19,0002x6Hx123] = 1,368
NT = 1,368,0002x2/12 = 208
- =AY 3,500 x6%x252x125| = 6,300
- DEH| 1,6002x62x252Ux125| = 2,880
- SO s 15,0002 x6H x4 = 360
200
AFEOfl AF 19,500 19,856 A356
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ZH:(2000) At OHEH] 2

(2400) =S LRI AL N & (2410) K SO0

Mgt (2414) X = 2 e

m
40

NIAIEE: (220) REHI A [(SRE][c2: "]

2 = ¥ 4 o 5
ol & o oo & = ) x
A s M MMIE 2 o & o =5 A Y
220
KR AL 19,500 8,921 10,579
405
XHAabs =) 19,500 8,921 10,579
19,500 8,921 10,579/01 XAt 2ZF S|
oZYYIZR TRIE) R 2,000,000 %10 = 2,000
ozwugzZg =) 1Y 2,500,000 %10 = 2,500
CXNMCHFAG HIZ2FH 2
15,000, 0002 x 14! = 15,000
2417
ARDEHAAL 150,000 130,000 20,000
200
AFE Ol AF 150,000 130,000 20,000
220
KR AL 150,000 130,000 20,000
401
L= 150,000 130,000 20,000
CHl
150,000 130,000 20,000/01 Al&H
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ZH:(2000)AFSIOHEHl  2:(2400) FEH L X A ALSI NS & : (2410) KIS NIgH: (2417) AR 2 E ALY NIAIEE: (220) REHI A [ERE] [ E¥]
o = SRC I m
ol & o oo & = ) x
I 2 HIE ML = o & % s A Z
OARDIEDIMEH ALY 150,000,0002x14! = 150,000
2420
e pre 184,704 52,529 132,175
2421
e pel ALY 184,704 52,529 132,175
100
=PSRN, 144,364 50,429 93,935
110
o124 6,651 0 6,651
101
o124l 6,651 0 6,651
6,651 0 6,651/05 LAlAL QIS
CAZESHUFSE B Q=Y
27, 71081 x2x20 2 x63] = 6,651
120
3 &= Al 137,713 50,429 87,284
201
o pre | 79,673 41,246 38,427
79,673 41,246 38,427|01 LEr2H|
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JARSIOHEEE]  24:(2400) FEH L XIS AN &F: (2420) =& 2t e NI (2421) 22l ALY NIAIE: (120) B & = I [SRE] [ HH]

ot = SIE o
Ol &b oA A = I =

H
==

2
0l

B HIEE. HIAIE = o A

- PAEY L2 1,855,0008 = 1,855

19,400,000& = 19,400

- EEBANE, HEEY 248

190, 0008 x20Z X| = 3,800
- ASUY HME ARE PY 5,280,0008 = 5,280
- SAHEEH RE P 150,00021x 10052 = 15,000

- ASA LR 222 KD

35,000 x25024x3/10 = 2,625

=3.232= ¥ HA

- 2N2Y ZRe3 480,0002 = 480

- 210l @Held ML (Hot2HA, S 1IHL)
250,000 x3H Ax123] = 9,000
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JAFBIOHEEHI  2:(2400) FEHLA XIS ARSI NS & (2420) == 2tel HIgt: (2421) FE1 22l ALY NIAIE: (120) B & = I [SRE] [ HH]

. N oow oo &0 = 8 A & p %
JBHMIEE MM = e B = A
o5. T =H|
- 20510t EHed 1=l 110,000&x5% = 550
- orE s} 38,5002Ix5% = 193
- ot E 20,000&x500 = 100
c6.23 Y|
- RAESESEHI 3,270,000& = 3,270

5,000& x6E x7Lx1235] = 2,520

5,0002 X658 X7 x 123l = 2,100
- ABAD HRET OFA2DR 24

5,0002 X658 X7 x 123 = 2,100
- FHEBYWLALLR ST ORIZL2X B4

5,0002 X658 X7 x 123 = 2,100
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E:(2000) ALSIJHELH] 2 (2400) FEAL XIS ALSIIHE Bt (2420) 3 HIB: (2421) =S4 B2l ALY HIAIEE: (120) B &= A | CHo: el
ot = o = il N ) =
B 2B MIE MAIE oM | = ot
o7. 42
- 25IIAES B 2
Zayel 300,000 x 1CHX53] 1,500
=S 300,000 x1CHx53] 1,500
o9, AlZ HHIS XY
- 2H0l X2l NS (Ho2MA, SH1IHA)
el 500,000 x37H A x23] 3,000
- R P 2 100,000 x3H AX55 1,500
- X 22/ 100,000 x37H A x63] 1,800
202
o1l 35,880 7,200 28,680
35,880 7,200 28,680|01 =LH0IHI
oFQ AURFZA O 10,0002 x23x6Lx 125 = 16,560
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XIS ARSIOHE 8 (2420) 3= 22 HIgt: (2421) FE1 22l ALY NIAIE: (120) B & = I [SRE][e2:3H]

0
i

oy
m
H
E

imi

2
z
[IA]

Jl =

=
z
12
Ol

A2

x112x122] = 6,600
o A=oIIE R FAWYI 10,0003 x6Ex6€x1238 = 4,320
CAHAFNMIHR FANHI 10,0003 x5 x6€ x128] = 3,600

ofolltd== HERE 30

10,000._4x5%‘x8°e'x12§| = 4,800

QN
{0 @
Skl

Bl

3,600 0 3,600

3,600 0 3,600/04 JIEIS R F=&HI

300,000 x128 = 3,600

w
e &

=
HI
0
oy

18,560 1,983 16,577

0B
e
ry
0]
[0
HT
0
oy

10

18,560 1,983 16,577108

0
([
J0
ry
10
x0)
o
>
10
HT
™

19,000&x10g8x128 = 2,280

|
S
Mt
]
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P!

[y

2000) At3] 1 2| (2400) =S4 LRI ALSI O & (2420) 5= NIgH: (2421) 42| At NIAIEE: (120) B & X A Y] e ]
o = - -
o Bl mi ot = =
(B Mg = A& A2
U 2,280,0008x2/12 380
- EAl| 3,500 x5 x 10 x 122 10,500
- DY 1,6002x25Lx 102 x 122 4,800
- Coie BsEp 15,0002 x 102 x4 600
200
AR O] &t 40,340 2,100 38,240
220
ERI A 40,340 2,100 38,240
206
HE 840 0 840| o RBINAFS HHEH U (DI 65
20,0008 x7Zx6H 840
207
o1 TN b 32,500 0 32,500
32,500 0 32,500 (02 & AFDHEH|
CAESUE HBEH HAMSAY S|
5008 x65, 000 32,500
402
DI2HX =0l 2,100 2,100 0
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JAFSI NS 20:(2400) FEH L XIS AL DR 8F: (2420) F=E4 22| MIgh: (2421) =4 22| AFY Mg : (220) REMIAFS [ERH] [ HH]
2 = ¥ 4 o 5
ol & o oo & = ) x
BHHIE. MIMIE 2 o & o =5 A Y
2,100 2,100 0|01 QIZHXIZE X
o= UIE HY| 300,000 x7E = 2,100
405
XHAbE S| 4,900 0 4,900
4,900 0 4,900/01 JHAtL 2 Z xSy
CAZZSMUAYUS Mg L ToHEIE TRE)| Y
1,300,000 x 1CH = 1,300
CAZZ2ME MAE Toal A 2
600,000 x1CH = 600
CRFINHES O JIZSNE CIXNEIH 2L
500,000 x 1CH = 500
oZ=NEH MAALN 2 2LtZAED| P
2,500,000 x1CH = 2,500
= g A 8,189,668 8,563,084 A373,416
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